GUPTA CLASSES

GUPTA

CLASSES

www.guptaclasses.com

2 A Premier Institute For SSC/Bank/MCA/MBA/CDS/NDA Entrance

MOCK-4

Directions (1 -3) :

In each of the following questions, select the

related letter/word/number from the given alternatives.

fdw (1-3) : 79 v wvA ¥ fGu 7w foeedl € |
WA AR / VR / el Fl AT |
1. Gujarat : Garba :: Punjab : ?
(a) Bihu (b) Bhangra
(¢) Kathak (d) Ghumar
2. INQV :JPTZ :: HNSG :?
(a) IPVK (b) IPKV
(c) PIVK (d) IRVK
3. 108:11664 ::106:7?
(a) 10636 (b) 11206
(c) 11236 (d) 11272

Directions (4-6) :

Find the odd word/letters/number pair/number

from the given alternatives.

fde (4-6)

: T2 T famedl 4 @ fawm visg/ e/

W W/ ST &L AT |

4.

i

(a) Clouds : Rain

(b) Injury : Pain

(c) Boiling : Evaporation
(d) Freezing : Cold

() IM (b) FJ (c) MS (d) Uy
(a) 144 - 100 (b) 25 - 36
(c) 441 - 484 (d) 169 - 196

From the given alternative, select the word
which can't be formed using the letters of the
given words.

Frfafea faweat #, 98 vieg giT <1 fou e vreai &

ST T T I T A 5 3
POSSESSION

(a) POISE (b) OPTICS
(c) POSE (d) SESSION

In a code language, if SOULFUL is coded as
ORIIXLYV, then the word TIDAL will be coded as-
Rt She WTST § SOULFUL i ORIIXLV ¥ &hied hid
%, T TIDAL, ¥1sg &t 38 sfera fewar smeam 2

(a) OXFWF (b) QLADI

(c) OXGFW (d) WEGXO

Arrange the following words as per order in
the dictionary.

frreafeitaa vreai w1 vrsqantor ® foU T o1 o AR

At &l

1. Temple 2. Trainef

3. Troup 4. Trainign

5. Tented

(@)1,5,2,3,4 d)1,5,2,4,3

(©)1,5,4,3,2 (d1,4,5,3,2
10. Pointing to a man, Jaggu said, ‘“His son is my
son's uncle.’”” How is the man related to Jaggu?
Sfert Tt 3T IR & §U, S 3 el ' et gt
mrw%”agwl‘aawﬁ%@‘aﬁ%%’
(a) Brother B) Son
(c) Father (d) Grandfather
Directions (11-13) : In the following questions, a series is given

with one terms missing. Choose the correct alternative from the
given ones that will complete the series:

fidw (11-13) : FoowfeiEa 99 #, T T
T R, ﬁm&@ﬂi{@ﬁ%l ﬁqmﬁwﬁﬁgazﬂﬂ
fea T ST IIHT T G H
11. 84, 42, 28, 21, ?
(a) 10.5 (b) 16.8 (c)18.4 (d)19.6
12. AVA, BUC, CTE, ?
(a) DVG (b) DSF (c) DSG  (d) GSD
13. AAA, BCD, CEG, ?
(a) DGI (b) DFI () DGJ (d) DJG
14. If P means ‘+’, R means ‘+’, S means ‘-’ and Q

means ‘X, then48P4R3Q4S6Q4 ="
afg p et o7t '+, R <At 31t '+, S a1 3ref - 3T Q T ek
%, %, M48P4R$3Q4S6Q4 ="

(a) 20 (b) 6 (© 6 @o

If9911 a3 =60and 13617 a4 = 20, then
40641 a5 =

(a) 405 (b) 400 () 360  (d) 375
Direction (16-18) : In question numbers 16 to 18, select the missing
number from the given responses.

391 (16-18) : W91 U= 16 4 18 U, fru 7w fawew o
| o 9 g |

ba| G| Co

(o) RS (e B |
RN B I N I )

o))

(b) 2 (© 3 (d) 6



17.

18.

19.

20.

21.

22,

4 |3|5|70
11({8|2|186
T |9 5|2
(a) 105 (b) 115 () 110 (d) 753
415 |3
715 |1
816 |4
?160]|16
(a) 60 (b) 84
(c) 88 (d) 224
In the given figure, how many pages are either

new or white but not both.

= TS TRt W, o TS @ At T o wihe €, SR
A TE

New/Tg7 —>, < Pages/®TTH
4‘
(&

&Y,

Whittr/’ﬂﬁﬁ
(a) 111 (b) 100
(c) 125 (d) 168

Find the number of triangles ?

Fry=t st S J| i ?

(a) 22 (b) 20
(d) None of these

Mirror is placed on the line MN, then which of
the answer figures is the right image?

fe wek TUUT I MN IET W [T AMQ, O & T8 3T
Mt § ¥ WA-W SMMRfqT GIT AMeRfT T Wt
wfafers grit ?

(o) 24

Question figure/JITT 3TTehfc
N
&
o $
v
M
(@ o (b) B
$ NV &>y A
9 v
© N\ ® (d [\ B
A AN
3 v %

A piece of paper is folded and cut. From the
figures given, indicate how it will appear when
opened

Question Figure/997 SATRIa

o o

N 8) e
\C-U_O/ o o> <\/> S 4
(a) (b) (c) (d)

Direction (23) : Two statements are given here which are followed
by two conclusions. You have to consider the two statements to
be true even if they seem to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any,
follow from the given statements.

99 (23) TEi § B AR WS AL | e fow o
§1 U 31 T Hl T THE AR S0 S AR A
AMFE: A qeE 9 T9= did gid il tmest fuia
T @ T Tou T frenfl © @ 29 @ frepd afe =1E 2,
&t @] T R

23.

Statements:
1. All black are white.
2. All blue are black.

Conclusions:

24.

25.

I. Some white are blue.

II. All blue are white.

(a) Both I and II follows

(b) Neither I nor II follows
(c) Only conclusion II follows
(d) Only conclusion I follows

Which one of the following diagram
represents the correct relationship among
Rose, Flower and Stone.

Frfafaa § @ SE-wt SH Toe, HBet q97 ek &

Srer Weer SRl SoTia & ?
"©0 ")

Q0O
A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
letters as in two matrices given below. The
columns and rows of Matrix-I are numbered
from O to 4 and that of Matrix-II are numbered
from 5 to 9. A letter from these matrices can
be represented first by its row and next by its
column. E.g., ‘I’ can be represented by 03, 22
etc., and ‘K’ can be represented by 56, 97 etc.
Similarly, you have to identify the set for the
word ‘HALT’.



T 9168 ohalel Ueh SEAT-TYg §IT guita 77 ¢, S T
faereat o @ fonedt wes ® foam man ) faereat ® fau g
HEAT-HHE 3Tel & 4 vl g I9i¢ 7Tq ¢, <A ok =fer
fiu U @ TR W ) MR -1 WA i uhr w
T 0 T 4 S TTE ¢ T MTeTE —IThi 5 H 9 | 3 TRl
T Ueh 3T ol Ugel SHeht Ufer 31 aTg | T T gy

T WeheT &1 STEI0T & fa@ 'T &7 03, 22 §I
THITAT ST THheT &' K T 56, 97 TRT S9TAT ST TeheT 1
U 9% W, MUkl 916 ' HALT' o TTQ W& 9HE i
g &

Matrix-1/3Te9g-1  Matrix-11/375gg-11
0[1(2]3]4 s[6]7]8]9
O[H[G|T [T [N| [S|E[K[X[B]|A
1|1 [N|H|G|T]| [6[A[E[L[X][B
2la[T[1 [NTH| [7]L]BlE[A]X
3[N[H[G|T[T| [8[X|A[B|E|L
4[T|1 [N[H[G]| [9|B[X[K]|L][E

(a) 31, 59, 68, 21 (b) 43, 86, 99, 40
(c) 24, 78, 75, 02 (d) 12, 97, 88, 33

GENERAL AWARENESS

26.

27.

28.

29.

30.

31.

32.

33.

34.

In which Rock Edit Ashoka mentions about the
casualities of Kalinga war and declares the
renunciation of war?

o ToTeT TSTTeyT § ST ¥ eI Iag ok garedi &l
Seore feran € iR g =T it T @5 €7

(a) Maski Edict (b) Rock Edict XIII

(c¢) Rock Edict XI (d) Rock Edict X

Akbar held his religious discussion in

3HaT YT eTfieh faremy-famyt gl e oar?

(a) Jodhabai's Palace (b) Panch Mahal

(c¢) Idabat Khana (d) Buland Darwaza
Who succeeded Guru Nanak?

T ATk T SRR i &7

(a) Guru Angad (b) Guru Ramdas

(c) Guru Arjan (d) Guru Hargobind
What is farming along with animal husbandry
called ?

TYTUTAS o | Wt Shl ST el STl 82

(a) Mixed farming (b) Mixed agriculture

(c) Dairy farming (d) Truck farming
Hydraulic Action is a type of erosion caused by
Faefera fshat fRe &ROT § SN a1 Teh Y@K @
U &7

(a) Running water (b) Wind

(c¢) Glacier (d) None of these

Which of the following is the newest
geological era?

Frfafaa 8 & & 91 T&i"an o - S I E?

(a) Permian (b) Triassic

(c) Cretaceous (d) Jurassic

The plant from which cocoa and chocolate are
obtained is a

fora w0 o U1 | wieh! AT TATeheie UTW e Srar &2
(a) Herb (b) shrub

(c) small tree (d) very big tree

The biggest single - celled organism is

[ ST Th-ehI9T Sl &

(a) Yeast (b) Acetabularia

(c¢) Acetobacter (d) Amoeba
Crescograph was invented by

fereeRTTes ot STfarseh e feram femarm am?

35.

36.

37.

38.

39.

40.

41.

(a) S.N. Bose (b) B C. Roy

() J. C. Bose (d) P C. Mahalanobis
Foramen Mangnum is an aperture found in the
HERY, S Uek 5o &, el e &2

(a) Ear (b) Lung (c) Girdle (d) Skull

Who betrayed Siraj - Ud - Daula in the Battle of
Plassey in 1757 ?

1757 ¥ Tt & g ® Frs1-3e-2ren o @y foree
Targararena ferar or?

(a) Hyder Ali

(c) Mir Jaffar

'kelp' is

‘Sheq’ T BT 772

(a) Sulphide mineral of iron/dg &1 sTU=ifed

(b) Partially decomposed vegetation/3i¥d: TUEfed
EEICAE]

(b) Mir Qasim
(d) Nawab of Oudh

(¢) Sea weed rich in iodine content/SHst Haret s
SAEEH T A H |

(d) An aluminium silicate mineral/ugfaf=m fafase
ECIEE]

Which application in Microsoft Office
feasible for preparing presentations?
FEIAHIUT IR A & AU Argshiaiee o1 & ar
TP SUTed &7

(a) Microsoft Excel (b) Microsoft Word

(¢) Microsoft Power Point (d) Microsoft Publishers
Name the branch of Zoology that deal with the
scientific study of animal behaviour.

QIUTHEIRAT St FTET ot AT RTad ug] SR 1S9
eI femar STaT 872

(a) Ecology (b) Physiology

(c) Ethology (d) Anatomy

Who among the following has written the
famous book "Malgudi Days"?

yfag Iae | HIeNIET a9 T v efarEd § |
W E?

(a) V. S Naipaul (b) Deepak Chopra

(c) Rabindranath Tagore (d) R. K. Narayan

British Crown assumed sovereignty over India
from the East India Company in the year

is



fafesr e 7 3w gfean Shusl ¥ 9ARE WX wgE fog USTHeTg ok SFaTid faehtd Uisham ot ' dsier fammeT’ ' o6 &0

o o g 7 ferr afutar fora &7
(a) 1857 (b) 1858 (c) 1859 (d) 1860 (a) Schumpeter (b) Karl Marx
42. Which vein brings clean blood from the lungs (c) Hansen (d) J.s. Mill
into the heart? 46. J. B. Say's Law of Market was not accepted by"
i T RS W T | 9T Yot Tl €7 . &1, | o1 IR frem fend Wit 7@ an?
(a) Renal Vein (b) Pulmonary Vein (a) Adam Smith (b) Marshall
(¢) Vena Cava (d) Hepatic Vein (¢) Malthus (d) David Ricardo

43. The first woman president of Indian National
congress was

47. The slogan 'Garibi Hatao' was included in the

“ITiYelt geTel '’ IR SIA-Ht Aot | gTifer feRam TR

WS T HTUT kit TSt AIEAT TeTeT i i ? or?
(a) Kamala Devi Chattopadhyaya (a) Second Plan (b) First Plan
(b) Sarojini Naidu (c) Annie Besant (c) Fifth Plan (d) Fourth Plan
44. Average propensity to consume is defined as WA referaeerr et §72
SUHIT <kt 3rEd w%aﬁmwﬁvﬁmﬁﬁﬁwmm (a) Independent Economy (b) Mixed Economy
2? (c) Capitalist Economy (d) Communist Economy
(a) Aggregate consumptipn + Total Population 49. The National Emblem of Italy is:
el SUHIT + el A Tt @ T o W 22
(b) aggregate income + Aggregate consumption (a) Eagle (b) White Eagle
Tl I + Fed SUAM (¢) White Lily () Lily
(c) Change in consumption + Change in income 50. Who invented the battery?
S H HREH + o H e éﬁmwﬁwmﬁmj‘%
(d) Aggregate consumption + Aggregate income (a) Roentgen (b) Volta
P ST + Fod 3T (c) Faraday (d) Maxwell

45. the development process under Capitalism
has been described as "Creative Destruction"
by:

QUAN TITATI APTITUDE

51. V24 ++4216 .

is equal to

(d) Rajkumari Amrit Kaur | 48. Indian Economy is a/an:

55. If the selling price of 4 articles is equal to the

/96 cost price of 5 articles, the profit is
2 e /e afg 4 aEge &1 fawa o 5 axgel & % oI &
(@ NG (b) 2v6 @46 (d)2 W@,%W@Tﬁ 1
52. A number, when divided by 221, leaves a (a) 20% (®) 225 %
remainder 64. What is the remainder if the 0 o
same number is divided by 13? (c) 25% (d) 30%
et ST Y 2218 9T 3 TF SR 64 W BT 2 56. The next number of the sequence 3, 7, 15, 31,
: 63, ? is
3| €& W 13 | AET fEn |, @F 9w ’ .
g? e o 3T 3, 7, 15, 31, 63, ? i 3Tt GEAT &
(c) 123 (d) 127

\
simplifies to

53. The LCM of two numbers is 44 times of their
HCE. The sum of the LCM and HCF is 1125. If | °/ [ 1+42 L 1- V2
one number is 25, then other number is : /5+ /3 /5 _J3

(a) 0 b 1 @11 ()12 P @95 (b) 111
T GEATS 1 . T, I7eh H. 9. T 44 TAT I A €. 9ATH. |

. & ATHA 1125 ¥ Afg 398 | Tk G 25 €, a@ (@) V5+/6 (b) 2¢/5+6
et gt © {5-6 @ 2,/5- 3V6
(a) 1100 (b) 975
(c) 900 (d) 800 58. /110l is equal to

54. 0.001 is equivalent to @ 1240 ) 115
0.001 SHgeT § (© 11.0 (d) 10.5

(a) 10% (b) 1% (c) 00.1% (d) 0.1%



59.

60.

61.

62.

63.

64.

65.

66.

67.

By what least number should 4320 be
multiplied so as obtain a number which is a
perfect cube?

4320 1 fE TaW BIET TE&T ¥ TOT HH W AW

UM Tk YUT oI HEAT B2

(a) 40 (b) 50

(c) 60 (d) 80

(0.9 X 0.9 X 0.9 + 0.1 X 0.1 X 0.1) is equal to
(a) 0.73 (b) 0.82

(¢) 0.91 (d)1.00

(31000 +3 /0.008 - 3./0.125) is equal to

(@) 9.7 (b) 9.97

(© 9.997 (d) 9.9997

IfA:B=3:4andB:C=8:9,thenA:B:Cis
G A:B=3:49MB:C=8:9% A: B : CRl
(a)8:6:9 (b)9:8:6

(c)6:8:9 (d3:32;9

32 is what per cent of 80?

32, 80 % feRa~ Wfawra & SR 72

(a) 24% (b) 25.6%

(c) 36% (d) 40%

An article, which is marked rs. 650, is sold for
rs. 572. The discount given is

et =g, Torment siferd 9e97 %. 650 €, 1 &. 572
o= T ) fea e "eer

(a) 12% (b) 13%

(c) 21% (d) 26%

A sum of money becomes double in 3 years at
compound interest compounded annually. At
the same rate, in how many years will it
become four times of itself?

iR TU B HASIT, Trehgfeg SIS § hig AT 3 a6
T i i El STt 81 SH X | foraw o ® o wa
T AR T[T 2t ?

(@) 4 () 6

(c) 6.4 (d) 7.5

One man and one woman together can
complete a piece of work in 8 days. A man
alone can complete the work in 10 days. In
how many days can one woman alone
complete the work?

Teh STTEH T2 Ueh Afger factent fereit ol =t 8 fer o
T T Hehdl 1 3Tahell et 39 ahrd @l 10 T & g
aﬂm%la%rvﬁwl%wwwﬁaﬁﬁmﬁﬁ?ﬁww

()@

© 40 (d) 42
In a Mathematics examination the numbers
scored by 5 candidates are 5 successive odd

integers. If their total marks is 185, the
highest score is

(b) 30

68.

69.

70.

71.

72.

73.

T hl Teh T W 5 SHGaRI gRT YT 37k oA 5
forom yutier # &1 afg 37 et 3 185 ¥, T Sweraw
37k ferat £2

(a) 39 (b) 43

(c) 41 (d) 37

In two successive years, 80 and 60 students of
a school appeared at the final examination of
which 60% and 80% passed respectively. The
average rate of students passed (in per cent) is
Tk Thel & 80 3T 60 BT ar & o sife udtam &
3, TS & SHH9T: 60% 3T 80% W g TTH §T BT

=7 S &€ (W § ) e £2
(a) 68% (b) 68;%
(©) 70% ) 72§ %
3
If 55 x53 + 52 =597 2 then the value of a is
(@ 4 (b) 5
(© 6 (d) 8
If -3x+1=0, then the value of
6, .4, .2
x"+x +x“+1 will be
%3
(@) 18 (b) 15
(o) 21 (d) 30
15 litres of pure milk are added to 30 litres of

a milk solution containing 15% milk. find the
concentration of the resultant solution.

15 et % Y15 38 I 30 Tie 3¢ & |yl faetman smar s
ISk 15%@%:%mﬁmﬁﬁﬁﬁmaﬁﬁﬁq7
(a) 82.5% (b) 44.4%

(c) 75% (d) 76.5 %

If the age of P and R are added to twice the age
of Q, the total becomes 59. If the ages of Q and
R added to the rice age of B, the total becomes
68. And If, the age of P is added to thrice the
age Q and twice the age of R, the total becomes

108. What is the age of P"
W%Paﬁ'mm'ra;gr '@\‘:ﬁ'@ﬁﬂﬁﬁ% a‘r
59 a8 & &l %laﬁ;'Q aﬁTRm'T
‘@‘s‘rﬁ'@ﬁﬁ'l‘cﬁ% a‘rwﬁsmf%
ﬁ?ﬁ?ﬁaﬁr‘%WR

%ggﬁﬁ:ﬁaﬁ% A FeT 108 ¥ P T Y

(a) 15 years (b) 19 years

(c) 17 years (d) 12 years

Anirban gets a 4% raise. a year later. Anirban
receives a 2.5% cut in pay and now his salary
is rs. 25000. What was his salary to begen
with?

ATRATT 4% 31fereh UTaT ¥l Tk 96 a1 98 YA &
HHT 2.5% T UAT g 3{} 3760 37eht aa &. 25000 T
YR § 3Tt IaT T 91?

(a) rs. 24654.8 (b) rs. 20000



(¢) rs. 13005 (d) rs. 15421
Divide Rs. 680 among A, B and C such that A

gets g of B gets and B gets i th of what C gets.

74.

What is C's share?
680 T A, B 3iIX C & %1 30 Uk fasmra o fom A

#Bwiﬁw%aﬁ?sﬁcm%ﬁw%lcwﬁw

T E?

(a) rs, 280 (b) rs. 380

75.

(c) rs. 480 (d) rs. 120

Gold is 19 times as heavy as water and copper
9 ties as heavy as water. The ratio in which
these two meals be mixed so that the mixture
is 15 times as heavy as water, is :

|, vrﬁﬁwwrrmﬂ%aﬁ-{w T | 9 U WY

%la—-ﬁaraaﬁmﬁ waﬁmﬁﬁﬂmmmﬁw
o & 15 O A A

(@) 1:2 (b 2:3

() 3:2 (d) 19:135

ENGLISH LANGUAGE

Directions (76-77): In the following questions, sentences are given
with blanks to be filled in with an appropriate word(s). Four
alternatives are suggested for each question. Choose the correct
alternative out of the four as your answer.

76. Solar panels are used to_____Satellites.
(a) powerful (b) power
(c) powerless (d) powers

77. His words were ............ for the occasion.
(a) appropriately (b) suit

(c) appropriate (d) suitably

Directions (78 - 79) : In the following questions, some parts of the
sentences have errors and some are correct. Find out which part
of asentence has an error. The number of that part is your answer.
If a sentence is free from error, your answer is No Error.

78. Rakesh founds the newspaper very dull.
(a) very dull (b) Rakesh founds
(¢) No Error (d) the newspaper
The door should be keep closed.

(a) keep closed (b) No Error

(c) should be (d) The door

Directions (80 - 81) : In the following questions, out of the four
alternatives, choose the word opposite in meaning to the given
word as your answer.

79.

80. Detest

(a) injure (b) assist (c) adore (d) withhold
81. Repel

(a) drag (b) coax (c) attract (d) annoy

Directions (82 - 83) : In the following questions, a sentence/ part of
the sentence is printed in bold. Below are given alternatives to the
bold sentencel/part of the sentence which may improve the
sentence. Choose the correct alternative. In case no improvement
is needed, your answer is No Improvement.

82. Ours is a joined family.
(a) joint

(c) No Improvement

(b) jointed

(d) join

Be quick otherwise you would miss the train.
(a) otherwise you could have

(b) No Improvement

(c) otherwise you will have

83.

(d) otherwise you will have

Directions (84-85): In the following questions, the first and the last
parts of the sentence are numbered 1 and 6. The rest of the
sentence is split into four parts and named P, Q, R and S. These
four parts are not given in their proper order. Read the sentence
and find out which of the four combinations is correct. Then find
the correct answer.

84. 1. Earth is the home

to our future

we all share

generations as their

and would pass on

legacy.

(a) PRQS (b) QSPR  (c) SPOR (d) QPRS
It was a Friday morning and

the lieutenant scanned the horizon
Just as the desert haze

with his binoculars

was clearing

and focused on many enemy tanks.

(a) SPQR  (b) PRSQ (c) QSPR (d) RPSQ
Direction (86) : In the following question, a sentence has been
given in Active/Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Passive/Active Voice.

86. Close the door.
(a) Let the door be closed (b) Let the door closed
(c) Let the door is closed
(d) Let the door is being closed

PN EO T

85.

o mO T e

Directions (87-88): In the following questions, four alternatives are
given for the Idiom/Phrase printed in bold. Choose the alternative
which best expresses the meaning of the Idiom/Phrase.

87. Take the bull by the horns is
(a) to be helpful (b) to win the battle
(c) to be sensitive
(d) to face a difficulty courageously
88. Sail in the same boat
(a) be in the same situation.

(b) suspect something uncanny.



1

(c) suspect something wrong.
(d) be in a different situation.
Directions (89-90) : In the following questions, four words are

given in each question, out of which only one word is correctly
spelt. Find the correctly spelt word as your answer.

89. (a) Jewillery (b) Jewellery

(c) Jeweleiy (d) Jevelry
90. (a) Diffuse (b) Difusse
(c) Diffusse (d) Difuse

Directions (91-92) : In the following questions, out of the four
alternatives, choose the one which can be substituted for the
given words/sentences.

91. Alegal agreement that allows someone to use
a building or land for a period of time, usually
is return for rent.

(a) Assurance (b) Deal

(c) Lease (d) Bond

The act of killing one's own brother or sister.
(a) Homicide (b) Suicide

(¢) Patricide (d) Fratricide

Directions (93-94): In the following questions, out of the four

alternatives, choose the one which best expresses the meaning of
the given word as your answer.

92.

93. lousy
(a) awesome (b) awful
(c) aura (d) awry
94. Crusade
(a) campaign (b) flatten

(¢) critical (d) angry

Direction (95) : In the following question, a sentence has been
given in Direct/Indirect. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Direct/Indirect.

95. Kumar says, "It dosen't rain in January."
(a) Kumar says that it dosen't rain in January
(b) Kumar says that it didn't rain in January
(c) Kumar said that it dosen't rain in January
(d) Kumar said that it didn't rain in January

Directions (96-100): In the following passages some of the words
have been left out. Read the passages carefully and choose the
correct answer to each question out of the four alternatives and fill
in the blanks.

Tennis is a game that gives one plenty of exercise: It
develops (96) of eye and limb and (97) the brain too into
(98). A few sets of tennis keep one physically and (99) fit.
But for the indoors, chess is the queen of games. People say
chess is a (100) game because only two can play.

96. (a) movement (b) swiftness
(c) quickness (d) agility
97. (a) commands (b) asks
(c) signals (d) calls
98. (a) response (b) play
(c¢) work (d) action

99. (a) intellectually
(c) mentally
100. (a) selfish

(¢) carefree

(b) emotionally
(d) logically
(b) mean

(d) careless



